HREALNTR S IR SR E SR G RAER AT

1. AEEKXER

NEEHBERE: 202443 520 H

B A Hh /K Y AT VR A TR S o A 4
SRR o RV AT VR A
e F ARG 019159
HE B E AR I
A RANH 2024 £ 3 H 19 H
BB P NEY rh W 4 B T A TR A
BEEFEE NAK Hh [E TR R AT IR A A PR A ]
NI (P NIRGERERE R TR EE) « (ATFEEIERR
THSIEEEHINEGY SRR (R L AT R
GRNEHR R REE TSGR « (PRI R & BUHE
FR TS E UL 1)
NES BRSNS | PRESTIR S A HR R AT IR A& C
EREENA 5 AR | 019159 019160
2. BREEERBN
Fe g SR A IR A ENIE IR S HE N S0 iF Wi ¥F AT [2023]1674 5
F 4 S AR ) 202441 H 30 HE 2024 £ 3 H 15 H
30 B ML 44 FK LKA ST IS B CRPREE A1k
SERSRINEEILE L I HIY 2024 %3 H 19 H
SEARONG DB CGRAL: ) 3,245
e f%#ﬂ%ﬁﬁé ?%Fw%ﬁﬁé»%ﬁ
e S e INT AR Tl 421,226,904.07 29,964,412.21 451,191,316.28
(. Nt )
NG5 o E S AR J ] 7= 150,326.84 7,012.79 157,339.63
ARFIR CEA. AR
mJt )
H RN 421,226,904.07 29,964,412.21 451,191,316.28
4Ry A | B
CHAL: | FIELR 150,326.84 7,012.79 157,339.63
) ()4 %
it 421,377,230.91 29,971,425.00 451,348,655.91
o 35N
LI | & 0 B
Lo 0| (s f 0.00 0.00 0.00
iz F A | )




BN
A& &S

i

SRS
A LE ]

0.00%

0.00%

0.00%

HoAth 7 2
PAIES
I

P

x

Hr: &
£ 191 1) 2
&EEA
(1 Mk A
SN T A

A

NAJINE=S
e A CHL
fir: )

6,932.71

0.00

6,932.71

SE s
g t=all

0.00%

0.00%

0.00%

S B IPRE iy 2 o2 T AT B R AL E (19

TPERIE G T ELM AT

El
=

[ o [EIE I 2 70 B 4 2% SR TSR A5 H T

N:RI=E

2024 43 A 19 H

E: 1. ARSE RN AR S AR SH RN 21k,

EisSid

WG A NI 4 R = 315

NN A= UNCE A=Y N AN =% ' 4 (LG I AW R NN RN S ) X TS
ERHEXECA 0 /i AEEMEEZHINWARIE SN FUSEREEX N0
it

3. AFEHEWIRESEI AN FUAE AT S A K040 6,932.71 4y,
AREE S A RIS PR LBy 0.0016%, PO LN J5 FI45 5 0.00%; Mol B
WAL 4 S A0 6,932.71 4y, 5 ATE G m A B S B L i 0.0015%, DY 45
NG #4557y 0.00%.

\)

3. KA/ ER S HIFI

B RESZ HE, AEGEHNHG IS ARG IS nPRrH
NR] CLEEH B A LA (0 R34 22 2 B B R 20, ] DI I AR i 78 N ) A
i (www.zofund.com) BE& k55 FLIE (400-700-9700/021-68609700) 5L %)
FNTE DL

e 8 TN AT ARAE S DU MRV D AN 2k IR 0 B I I B AR H R, 9 B
R G REM HlEAET 34 HIFaa FpEIgE ], HAAol 55 70 BN [R) A B
[l IF6 2 T RLE -

5>



Rtk

>
it

o

H RS 4 A A BR A )
2024 43 320 H



